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it’s Raining

This block
graph shows the
monthly

rainfall in
England and
Wales for one
year. It is
measured in
millimetres (mm).

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

1) How much rain fell in January?

2) How much rain fell in February?

3) How much more rain fell in January than February?

4) What was the rainfall in March?

5) What was the total rainfall for the first 3 months of

the year?

6) How much rain fell in May?

7) What was the rainfall in April?

8) How much less rain fell in May than April?

9) How much rain fell in the second 3 months of the year?
10) Which was the wettest month of the year?
11) Which was the driest month of the year?

Discuss
Which month would you choose to go on holiday?



Smile 2210

H a n d S pa n You will need a 30cm ruler.

A hand span is the widest you
can stretch your hand.

This left hand span is 16.3cm.

® Measure your left and right
hand spans.




® Draw a table with these headings.
Fill in the measurements of your left hand span and right hand span.

Left hand span (cm) Right hand span (cm)

® Measure the span of the left hand and right hand of everyone in your class.

® Each time make sure you both agree the measurements and then write them
down in your table.

How many people have hand spans larger than yours?

How many people have hand spans smaller than yours?

Was your right hand span the same as your left hand span?

How many people in your class have the same right hand and left hand span?

Display your results.

© RBKC SMILE 1995,
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=
I AVONKITE

lce -Crean

| think chocolate ice-cream
is the most popular. ;
Ml do a survey of my class Name Favourite flavour
to see if 'm right. Geera

Chocolate

Geeta counted up how many students B
liked each flavour of ice-cream. ® ;
; T ool i .
She drew this bar chart. @ i
[=] is
The mode is the most popular flavour. 2 5.
S o DN BN B
1) Which flavour was the mode in 1~
Geeta's class? 0

Vanilla Strawperry Chocolate = Fudge — Pistachio = Mint Peanut
Brictle

Favourite flavours

2) Which flavour do you think is the most popular in your class?
Do a survey to see if you are right.
+ Ask everyone in your class what is their favourite flavour.
« Count up how many students like each flavour.
« Draw a bar chart to show your results.
« Which flavour is the mode in your class?
« Was your first guess right?

3) Imagine you have enough money to buy four large tubs of ice-cream
~ to share with your class.

» Would you buy four different flavours?
- What flavours would you buy?

© RBKC SMILE 1997,



Smile Worksheet 2174

Favourite Colours  Smile 0448 —I

= H Blue
(1 White

The mode

Green

E Yellow

£ Red

Blue is the most popular colour so
blue is the mode.

The mode is a type of average.

The
Name Haight Frequeancy
mode Garol 1600m .
B Kenny 158em
. i Mchammed 1568cm 2
IS The , Razia 154cm 1
2 Hannah 150cm
Ishmael 150cm
most frequent e o 5
Bernadine i46cm
Jack 1486cm 2
VOlue * Faisal 143cm 1
i The most frequent height is 150 cm, so
150cm is the mode.

Double, double toil and trouble:

1. A Tol!y chart has been made to Fire, burn; and, cauldron bubble.
record the letters used in this piece Fillet of a fenny snake,
. . In the cauldron boil and bake;
of fext taken from William Shakespeare's Eye of newt, and toe of frog,
Macbeth (Act IV Scene 1). Wool ef bat, and tongue of dog,
Adder's fork, and blind-worm's sting,
Lizards leg, and howlet's wing
Complete the chart by filling in the For a charm of powerful trouble,
. Like hell-broth boil and bubble.
frequencies. Double, double toil and trouble:

~, Fire, burn; and, cauldron, bubble. _

Letter A B C D E F H | J K L M
L %%ﬁ% T S o
Tay (W4 e 0 | i+ il
e [ el | il i
Frequency| 22 |24 | 4 |22 |28 4 | 6 5 13 10
Letter N (0} P Q R S T ] v W X Y z
%m%% | W e | 9 [ g s R
Tally e Ht f LU i
e e i |
Frequency

What is the most frequently used letter in this piece of text?

Letter is the mode.

Turn over




2. Throw a dice 18 times.

a) Record your results on this

b) Display your results on this

tally chart. pie chart.
Complete the key.
S:.?I;b - Tally Frequency
Key
] .
2 2 [ ]
3 3 ]
a [ ]
4 s [
5 3 D
6 o .
3 c) Which dice score is the
mode?
3. Here are the results for 4.
Kudeza's matrix. Card No. | Test Mark 1 ]
T Take a handful of
0294 10 centicubes or counters.
1383 10
0220 7
1750 5
0291 10
0823 10
\L 10
Which test mark is the aad g Which colour is the
mode? mode”?

5. Do a survey of your
class to find in which
month people were
born.

Use this grid to display
your results.

Which month is
the mode?

Frequency

10

M A M J J A S (8] N D
Months
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Smile 1408

The Mean

' To find the mean of a set of values

These three boxes
gach conlain a

- | different number
b ‘ofsweels

+ Find the total of all lhe values.
+ Divide the answer by the number

]
| of values i
L‘ RSRTAS e ""‘\ B IR 0 ,\4

ERR ISR s

' Th:e :ota[,number of sWegts;fs 150. —: :

l s 7 / i thote were shared out equauy among
e 0 : the three boxes there would be 50 sweets
| Sarlf's marks Wy i {-‘_m eachbor.
| } 5 :

IEngimh History f Sciencs JFfench anngrldqri

;44,J azj,ze 131 | 29 | ,.={ 2§;j i e eeawerse o
- - ] i '-TC?JGL b of Sweks 457; ’ ’
Total numberot marks = 231 : f‘ + éjf : :
(44 437 + 29 + 31 + 20 + 36 + 25) ; : 150 _ {
Number -of subjects = 7 ; : _ / ’ f{?‘fﬁz 9% e 4?@ 10+ 5 50 } l
Mean = 231 = 33 : ,' 1 L\_ i s g " | ;,,..,«m-“ |
Satll's mean mark Is 33. l ! -The mean number of sweets Is 50. [
[ e o L |
1. Danny's marks were:
’ English Hisiory_ J Sclence T‘ French fgeogir_f‘a'phy% Maths ] Art ]
B ; 20 | 3t | 25 |- 28 f 42 - o a7
i S L b

Find Danny's mean mark.

2, The number of matchies it ten maich boxes were:

What should the manufacturer put for the mean contents on the match box?

3. The numberq 01 cary paqemg each hou rin C‘ara S vehic,le survcy were;

* Tims f ist hour “Rnd hour p 3rd hc:ur 4th heur T Gth hour l
l H i

o | 75 183 | 204 5 86 | %0 | 86

!
6th hour !

Hr.d the medn nuimber of cars pc hour

These s uoerw collected Mf ‘”‘ll!u“lh <moumﬁ oi money tor charity
hm‘"n i ’cum $ :_Ic'\' . _H_f'f.. b (rm.i g
2hp 8p  ° 290 31p ¢ 2fp

CelpLr Enon



. Smile 2198
Testing Dice

Three students, Hannan, Rachida
and Sharon made their own dice
out of paper. :

The_y tested their dice to make sure they were fair.

These tally charts show their results after 50 throws.

Number Tally Frequency

#H
HH 71
I
T HH
[Ty
4

Total 50

1) Copy and complete Sharon's tally chart.

2) a) How many times did Hannan throw a '5'?
b) How many times did Rachida throw a '5'?
¢) How many times did Sharon throw a '5'?

3) The mode in Hannan's test was '2". (She threw a '2' 12 times. 12 was the highest frequency.)
a) What number on the dice was the mode in Rachida's test?
b) What numbers on the dice were the modes in Sharon's test?

4) The range of frequencies in Hannan's test was 8. (This is the difference between the
highest frequency (12) and the lowest frequency (4).)

a) What was the range of frequencies in Rachida’s test?
b) What was the range of frequencies in Sharon's test?

Turn over.



Pie charts

i 2

© RBKC SMILE 1996.

Which bar chart and which pié chart belongs to each student?

charts but forgot to write their names on them.

- Bar charts

o 11 HHW -
w 1] = Sl
5 - w4 o - -
[ 287 g 8
Sl | = -84
S T
= 4] 7] £
e ] G
© . 3] = - T
HE- = £
T - J—
Z.] = =
Lo T | JEE
] Hetel =l
H . e %
(=1 wT o[ w o o T3] [=] 1y o [Cw e
£ i EpEAeR Rl ] 2 B I P SR A ABERE! |
i [ JAsuanba.y | | I 1 I I xucw:rmuk I |
- | R e | | 1 | 1 1 Ol I

5) Each student displayed their data on a bar chart, and a pie chart. They gave in their

6) Which two dice would you use for a fair game? Explain how you decided.
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